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Is the correlation positive or negative?

B

HPa

5 45 21 1 3 4 3 !
i & ] | 2

LK

1y

—i
—

5

15

25

i5

Write the equation of the line in slope intercept form.

Determine whether the relation is a function.

{(_512)’(111)’('511)’(216)}
y —4=>(x—8)

Solve the equation for vy:
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BAND STUDENTS:

- | have an activity and the homework from tomorrow
printed out.

- The notes from tomorrow will be posted on my website.



Check Homework
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Measuring Angles

- The measure of an angle is usually given
in degrees. Since there are 360° in a circle, one
degree is 1/360 of a circle.

- We can use protractors to measure angles.




Let’'s play with protractors!

Construct a 50 degree angle.
Construct a 35 degree angle that
faces up like a v.

Construct a 120 degree angle.
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Do p.792 #7 & 8

7) 400
8) 105°



Postulate




- What is AC?
12 4
A B C
- What is DF?
E
! 13

- If three points are collinear, then the lengths of the two
shorter segments equals the length of the larger segment.




Segment Addition Postulate ™"

Let A, B, and C be collinear points. If B is between
A and C, then AB + BC = AC

Notice: this means the length of
segment AB plus the length of
segment BC equals the length of
segment AC

¢ ———0

A B C
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Angle Addition Postulate

-If S is in the interior of ZPQR , then
MZPQR = mZPQS + mZSQR .




G is between Fand H, FG = 6, and FH = 11.
Find GH.

FH = FG + GH

11 = 6 + GH

-6 -6

5 = GH
—————eo—o

F G H



E is between D and F. Find DF.

D 3x—1 E 13 F




S is the midpoint of RT.
Find RS, ST, and RT.

R oy S 3x-2 T
*

RS

Il
N

ST

[
IN

RT

Il
00)



mZXWZ = 121° and mZXWY = 59° .

Find m£ZYW/Z.

X

o>

W V4

MsLYWZ = msXWZ - mZXWY ~ Add. Post.
msZYWZ = 121° — 59° Substitute the given values.

MmM/LYWZ = 62° Subtract.



KM bisects ZJKL.
Find mZJKM.

mZJKM = 30°



mZWYZ = (2x - 5)° and mZXYW = (3x + 10)°. Find
the value of x.

W 35
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"BD bisects Z/ABC, m/ABD = (ly+1(})D and
m«ZDBC = (y + 4)°. Find m£ABC. 32°



Homework

- Worksheet



